
Lecture

• Discussion on disproving statements by counterexample :

- If a ,b c- 21 , of >b
'

⇒ a>b. False : talk a= -2, b--1
.

Then at > b
'

but a < b.
It "
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v1, . . . >v.ERM t.ir/spanniyTinj/svrj: See answer key to HWZ .
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Prove that S=|: × , + ×, , ×,

, × ,
= ,

4 is a subspace of R
"
, find a basis for it /You most show it is a basis) .

Proof : S = KerCT) where T.IR" -1122 has matrix / IT ?
,
I
,
) .

Therefore S is a subspace of IR
"

.
To find a basis, use the method for finding bases of kernels .
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• Mock midterm solutions (different file) .

• More practice questions :

-

- Prove or disprove :

If T1 : IR
"

→ IRM is surjective and I : IRM→ IRP is surjective then IoT≥ is surjective

If T, : IR
"

→ R
"

is surjective and Tz : Rm→ IRP is injective then IoT≥ is injective .



- Write down the matrix of your favorite linear transformation .

- Find bases for the Vernet and image of your answer to the previous question .

-


